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Problem 1. Write vector equations of the following lines.
a. Line ¢, passing through the points P = (2,1,5),Q = (7. — 2,4)
b. Line ¢, passing through the points P = (1,2,1),Q = (11, -4, 1)

c. Line /3 passing through P = (0,1, 2) and orthogonal to both vectors v =
(1,2,-1),w = (2,0,1).
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Problem 2. Are any of the lines in Problem 1 parallel? For each pair of lines,
explain why or why not.
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Problem 3. Determine whether the point (2,1, 5) lies on both ¢; and ¢> and
make a conclusion about whether ¢; and /> are the same line.
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Problem 4. The following two lines intersect:
4L(t) =(5,0,3) +(-1,1,1)
Lo(t) = (1,4,7) +(3,0,-3).

Find their point of intersection.
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